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P1:

V ( V1 andPRIVATE 




{V1} S {P1} and




P1 ( P



(



{V} S {P}


A1:

{PADVANCE \U 6.0xADVANCE \D 12.0(E)ADVANCE \U 6.0} x:=E {P} completely


A2:

V ( PADVANCE \U 6.0xADVANCE \D 12.0(E)


(



{V} x:=E {P}


IF1:

{V and B} S1 {P} and




{V and not B} S2 {P}



(



{V} if B then S1 else S2 endif {P}


IF2:

{V1} S1 {P} and




{V2} S2 {P}



(



{(V1 and B) or (V2 and not B)}




if B then S1 else S2 endif {P}


S1:

{V} S1 {P1} and




{P1} S2 {P}



(



{V} (S1, S2) {P}


S2:

V ( [[ ... [PADVANCE \U 6.0xnADVANCE \D 12.0EnADVANCE \U 6.0] ... ]ADVANCE \U 6.0x2ADVANCE \D 12.0E2ADVANCE \U 6.0]ADVANCE \U 6.0x1ADVANCE \D 12.0E1


(



{V} (x1:=E1, x2:=E2, ... xn:=En) {P}



W1:

{I and B} S {I}



(



{I} while B do S endwhile {I and not B}


W2:

{V} init {I} and




{I and B} S {I} and




(I and not B) ( P



(



{V} (init, while B do S endwhile) {P}


DC1:
{V1} S {P1} and




{V2} S {P2}



(



{V1 and V2} S {P1 and P2}


DC3:
{V} S {P1} and




{V} S {P2}



(



{V} S {P1 and P2}


SP1:

S changes no variable in B



(



{B} S {B}


SP2:

S changes no variable in B and




{V} S {P}



(



{V and B} S {P and B}

SP3:

S changes no variable in B and




V ( V1 and




{V1} S {P1} and




P1 ( P



(



{V and B} S {P and B}
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